REV 1 - Changed & added types of front plate - JAN 11-2011
REV 2 - Wall mount added - DEC 16-2011
REV 3 - Wood mounted option added - MAY 27-2013

—
-

’

\

~

N 7 N
OPTIONAL éﬁ OPTIONAL

51.0
(min. 50 req'd)

| AN
| Fhori, nax = 1050 N

Fvert,/n4a>%= 1050 N

7“_

Curved head /
screwed,
BA02-P01.1

\
N
N 4 (optional)

This Handrail Fitting meets the requirements
of the National Building Code of Canada 2005,
Div B, Section 3.4.6.4.

Allowable loads are for distance between fittings of up to 1.5 m.

Gasket #1, BA02-P13

Gasket #2, BA02-P14

Ferrule bushing BA02-P05b

Tapered front plate, BA02-P12 (Standard)

~ __ | o
Weld head, Flat head / screwed, BA02-P01.3 \ / .
Béofi_:noa})lz (optional)
e [ PTIONA
| | |
- T - wm-r-— 77— ~ "1 ~ |
BA382-G Removablecap——~" U8B~~~ "
GLASS MOUNTED Set screw
STANDARD M8x1.25 Socket cap screw 4 Mo ’
Glass mounted handrail fitting BA02-P01
Hole in glass: Flat front plate, BA0O2-P11 (Option)
min. @15.9mm [0%"] Please specil
recommended @19.1mm [2%"] Glass thk.
max. @25.4mm [@1"]
25 min , typ. 100 Embedment
40max | to be specified
ORDERING INFORMATION
(please check) BA382-D ° ]
WALL MOUNTED Q —F
Glass mounted (std) (OPTION) S |
a4
Wall mounted (option) — a\ 4
i Wall Mounted Hand Rail Fitting, BA02-P0 1 / L < qd
3 - a4
Post mounted (Optlon) w/ M8x1.25 socket cap nut BA02-P03 & lock washer M8x1.25 Stud
Curved head/screwed (std) 25min 50-95 Embedment
40 max ! to be specified
Flat head/screwed (option) l—/
Weld head (option) BA382-W R = =
WOOD MOUNTED 3 b= o
OPTION § —- i - i lllll\llllll\lllll||ll|l|ll|ll\=“>
Tapered front cap (std) / / /
Flat front-cap (option) . M8x1.25 120mm Hanger bolt
Post Mounted Hand Rail
Glass thickness _ ___ mm
M8x1.25 or %"-16 UNC
If screw to be included, pls specify:
(2) Rail screws BA382-S o \ ] APPROVAL
#o__ __ _ POST MOUNTED S g | _
(OPTION) N |
CUSTOMER APPROVAL -
(PLEASE SIGN)
DATE: 155 DATE
Dimensions millimeter unless otherwise shown Drawn Drawn date
Quantity: Apply loctite 243 to all threads during assembly JH FEB 5-2010
Material: Grade 304/316 Stainless steel (To increase curing speed, please apply activator 7649)
: Details are typical and are subject to change to meet project requirement |Approved Approved date
Finish: Satin
Third Angle Projection Js FEB 5-2010
[Scale Rev.
ASSEMBLY DRAWING 2 R -
: " [t] (604) 231 5892
HANDRAIL FITTING - BA382 WG o [f] (604) 231 5893
FORMERLY BA02 BA382 [e] info@stellaglasshardware.com

This drawing is the property of Stella Custom Glass Hardware Inc and may not be copied or reproduced in any way whatsoever without written per

of that

p




